Abstract Reasoning Answers
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Set 1 0 Set 1[] Set 1[]
Set 2[] Set 2 0 Set 2[]
Neither[] Neither[] Neither®

All of the boxes contain an arrow and a star, and the arrow either points left or right. In Set A, the star
is green if the arrow is pointing to the right. If the arrow is pointing to the left, the star is black. Set B

has a opposite pattern: that is, when the arrow points to the right, the star is black, and when the
arrow points to the left, the star is green. The colour of the arrow is irrelevant.
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